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ALIGNMENT PROCEDURE

Use an accurately calibrated test oscillator with some type of output measuring device.

When aligning the IF. slugs use a non-metallic screwdriver.

(A) When aligning the 1620 XC OSCILLATOR TRIMMER or the 1400 KC ANTENNA TRIMMER, couple test oscillator to
receiver antenna by: (1) make loop consisting of five to ten turns of NO. 20 to NQ. 30 size wire, wound on a 2” to 3 form; (2)
connect this loop across output of test oscillator; (3) place test oscillator loop near radio antenna.
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